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General Instructions :

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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T A
SECTION A

Ife fopell =TT & @ 0 W favarr 5 V 3R 398 Yarfed 9w 0-2 AR, ol 38
ITeTeh b1 Yy fohdaT 8 2

If the potential difference across the two ends of a conductor is 5 V and
the current through it is 0-2 A, then what is the resistance of the
conductor ?

iyl Sferd S =1 Tg@ Fehe feafiE |

Write the major hazard of nuclear power generation.

o
SECTION B

I T % g hl AR G&F A A foeh fen # ormafaa fopsft wepmer fopwor <6
TEIEY Wafad fohtor 1 ur guria o fow amifera fopmr oM@ wifaw | 38 @
YA I R GG v 3ifehd HIfTT |

Draw a labelled ray diagram to show the path of the reflected ray
corresponding to the ray which is incident obliquely to the principal axis,
towards the pole of a convex mirror. Mark the angle of incidence and
angle of reflection on it.

Torehl fogq Wit o1 1 Tgra 8 2 39 MW 1 3g@ e, &Rt STguam
Torell grachiy & H oo amrETd! JTeieh W STRITUA o i feem fgif@ e o
fomam ST 2

What is the principle of an electric motor ? State the rule which is applied
to determine the direction of force experienced by a current carrying
conductor when kept in a magnetic field.

<& o S H IUEYA A T AW IR IR THAHS ¥ faRaw | i *
e T EH drelt del ¥ Am 9 <l e fafy ot fife
AAAT

fopell BT 7 Q1 gorsp SRl § (1) T H ToRel vt o1 qe (i) g W foRel &R o
foee ST, W 98 31 faeHl W ded @ qd T AR fofend 9w ot
TRl § 39@ed @ @ | 96 gFl @ fooRe M 8, 98 B
(a) PRTARITH 3R (b) HIUA IR T ST Hleh 1 QHI [Tl b o
a9e forg gepr T 2
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Name the acid present in ant sting and give its chemical formula. Also
give the common method to get relief from the discomfort caused by the
ant sting.

OR

A student prepared solutions of (i) an acid and (ii) a base in two separate
beakers but forgot to label the solutions and litmus paper is not available
in the laboratory. Since both the solutions are colourless, how will he
distinguish between the two using (a) phenolphthalein and (b) methyl
orange ?

e
SECTION C

IMER sj@a fhd &gd @ ? forell Wifias # 1 a8 TehicReh o1 gidl & 2
gfareq sare ST |

arera
(a) TSI I ol b KA (TF) T&I § & Fi T &1 AT ?
(b) TG h YH: <Y hl GoHT H 3ehT J: ITAN Ig i 8 ?

What is a food chain ? Why is the flow of energy in an ecosystem

unidirectional ? Explain briefly.
OR

(a)  Why should National Parks be allowed to remain in their pristine
form ?

(b)  Why is reuse of materials better than recycling ?

Fi4 fpH HEd 2 ? 98 T SHM o Ql Y@ AW 3N 31 gIWTEi hl FH 41T |

What is a dam ? List two main advantages and two ill effects of
constructing a big dam.

(a) U9l § UMY g T Hagd SHaehl o A9 fARGY | SISl o A5ed H S
IEXd Tid | fohd SRR JolsT HLdl § ?

(b) AT T b F=qedi T o1 § UIGU i ol ohl HTETIhATE HH
ERUECIRS

(a)  Write two water conducting tissues present in plants. How does
water enter continuously into the root xylem ?

(b) Explain why plants have low energy needs as compared to
animals.
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11.

“afepT 93 3R g 99 <A1 fiuctert Aal § o o guea 1 w1 wd
3 1” 1 &Y i gfee hifsr |

“Nervous and hormonal systems together perform the function of control
and coordination in human beings.” Justify the statement.

IRt 6t it faRa | sred At T |§ FH g SR & gfseehi
g foan 1 fawa w0 2 2 Gad § =amen Hif |

Define genetics. Why is decrease in the number of surviving tigers a
cause of concern from the point of view of genetics ? Explain briefly.

foreht 35 FaUa Teft O HE Tt o 2 g fsheedtt w1 T foham o B |

(a) Toredl 1 ATl <1 =R SH1ET |

(b) B arelt TERtIe Afufsean w1 R fafigu |

(c) Atufshan @1 Tgfctd TaEM® TR faifgw iR oM aTel 3cdtgl o1
Tm fafee |

AT
M g Are forem g fop Sia fopelt = few § i wiset (3ut) T R
SITAT &, 1 S o qISST o WTH P I68 T et et gered shl wd s et

2
(a)  Ig HIA Y1 =1 &4 =T 2

(b)  IE HIAT Y1 FAT R 2
(c) B dTclt TR T TER THier fafay |
(d) I8 W 1 8 el WA I ThE ThR T g foram ST dehat @ 2

2 g of ferrous sulphate crystals are heated in a dry boiling tube.

(a)  List any two observations.
(b)  Name the type of chemical reaction taking place.
(c) Write balanced chemical equation for the reaction and name the
products formed.
OR
You might have noted that when copper powder is heated in a china dish,
the reddish brown surface of copper powder becomes coated with a black
substance.
(a)  Why has this black substance formed ?
(b)  What is this black substance ?
(c) Write the chemical equation of the reaction that takes place.
(d) How can the black coating on the surface be turned reddish
brown ?
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12.

13.

14.

aifean grzgidarse & fFmi o forw 3w g areft foreft ftenfies wfskeam o
JUICATE o ¥ H IS 19 A’ Sl @ | I8 19 A’ b Tt | Safufshan e
IS A B’ sHT B, S W I H folsH e & &9 § 390 811 & |
‘A’ 3R B’ H gga HIfT | g9 el rfufspernedi & wamates wier off
iy |

In an industrial process used for the manufacture of sodium hydroxide, a
gas ‘A’ is formed as a by-product. The gas ‘A’ reacts with lime water to
give a compound ‘B’ which is used as a bleaching agent in the chemical
industry. Identify ‘A’ and ‘B’. Also give the chemical equations of the
reactions involved.

HIS ITTEh T TSGIFAleh ST oh T UTGHAT ek g Fegaae Icqd il
2 | T 3T Wfed 39 YRR % 31FEh 1 AW fafen | qug swed @ uig w6l
T S o T fh-foh =N 1 STEwIshdl BT ? 39 Wik § HfEHTeId
srfufshanet & TEmfe e ot fafae |

An ore on treatment with dilute hydrochloric acid produces brisk
effervescence. Name the type of ore with one example. What steps will be
required to obtain metal from the enriched ore ? Also write the chemical
equations for the reactions involved in the process.

fopell sTaael U 1 BIkE g8 20 cm B | 39 U § 4 cm AR TRl T ol
fopct g8t W T fop 3memt wftfers U0 & 30 cm gl W sH | &4 aTar Wfcifores
&1 TEs ot ufepfora il |

AT

fopell ITa1 e grr foreft T ol & § 12 em @ W W@ W W 38eh1 fovet &
TS 1 2/3 A, ATEdfdes Jdfes Sd1 8 | <9 31 Blehd gl Fd T |

A concave mirror has a focal length of 20 cm. At what distance from the
mirror should a 4 cm tall object be placed so that it forms an image at a
distance of 30 cm from the mirror ? Also calculate the size of the image
formed.

OR

A real image 2/3d of the size of an object is formed by a convex lens when
the object is at a distance of 12 cm from it. Find the focal length of the
lens.


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

15.

16.

fou U smE ° gresh 89 W@d g wh § | I B I8 wEdr § 5
fag ‘A W greshlg &7 fomg B’ 1 qoT H Al U9 8 | 39 % i g
HIRT | 30 M@ 1 U I gfegert W Eifaw SR greh & st 6
femm sifera Hifvw |

Magnetic field lines are shown in the given diagram. A student makes a
statement that the magnetic field at ‘A’ is stronger than at ‘B’. Justify
this statement. Also redraw the diagram and mark the direction of
magnetic field lines.

W 3
SECTION D

(a) TGN TR Tl & o9 faves Hifs | foret goa & famem & o
3R IS T 3@ iU |
(b) T=fcIRaa 9rT I g 3T ST 1 TR AE@ T
afcehty, dfdepl, VS, WG IHH
AT

(a) UHd OIS & S dF 1 @ Eirae 3 fafafga a1 amifea
Hif
(i) 9% 9 S 30E 39 T ¢ |
(i) I8 9T gl fe=E g R |

(b)  TiffTeh TRl G B aTel §F SHaTvl-SAfa Ui <hl T FA13T |

(¢ TS It w0 Bl & 2 A g g It i T *
T SRV T |
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18.

(a)

(b)

(a)

(b)
(c)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Distinguish between cross-pollination and self-pollination. Mention

the site and product of fertilization in a flower.

Draw labelled diagram of a pistil showing the following parts :
Stigma, Style, Ovary, Female germ cell

OR

Draw a diagram of human female reproductive system and label
the parts :

(1) which produce an egg.

(i1)  where fertilization takes place.

List two bacterial diseases which are transmitted sexually.

What are contraceptive devices ? Give two reasons for adopting
contraceptive devices in humans.

Hafd § X Td A1 SHehi gRI AR AN | aer i uriier foha
gehR gifeea <t It 8 2 samen Hifs |

T Yot W S=gall | fafagar a S 3es st § ot fafagar 1 g
3 waT 8 ? Sa faeem & deyd | sgeh foa=mn Fifve |

How is equal genetic contribution of male and female parents
ensured in the progeny ? Explain.

Does the occurrence of diversity of animals on Earth suggest their
diverse ancestry also ? Discuss this point in the light of evolution.

5 cm ST Hig o7 20 cm BT U & TRHT ITA 08 & T&I I§ W
e o Aveled W@ 2 | ford o o @ g 30 cm 8 | S AT Widfers
&1 feufa, wepfd TR wmes Fa IR |

e TR % T e oo @ Eifeg qur sEE fem g,
ifers gl o Biehd gl TMIehd HIMT |

A 5 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 20 cm. The distance of the object from

the lens is 30 cm. Find the position, nature and size of the image
formed.

Draw a labelled ray diagram showing object distance, image
distance and focal length in the above case.
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= fou T afwet #, g iy #, 2 Q yfaies g g St mf s
I AT HINT :

1Q
1Q 2Q ::::
VAV VWV
2Q
+| L + =
| ! 1]
6V 4V
A B

HAAT

Tore SIee ST AT 40 W; 220 VR | 38 Scd ol 220 V 3Yfd & wAiRd
T W Fod gRT Al T GRT [T I | sow @1 gy off {1 Fifse | afe
39 o hl 25 W; 220 V 3THAh o fohel Soa grn gfaeenfia s <, @ g
3R yfeRiY & o1 | 1 aRad= g 2 3199 IR hY HRoT |fga gfee dhifsre ik
B a1 afterdHt = feifa Hifse |

Compare the power used in 2 Q resistor in each of the following circuits :

1Q
1Q 2Q ::::
NAYAAY AVAAY,
+| N + =
| ! 1]
6V

A B

OR

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is
connected to a 220 V supply. Also find its resistance. If the given bulb is
replaced by a bulb of rating 25 W; 220 V, will there be any change in the
value of current and resistance ? Justify your answer and determine the
change.
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21.

TTHTY] ShHTh 3 F 9 T o dwal WX SATYTHG F=fciiad Jeat o I i

(a) 39 a1 AW fetfae e s B gea 31 7 |

(b) 39 dwa &1 A fefgu fSreeht gisrenar =@ 1o 2 |

(c) 3 dawd =1 4/ Tl St 3uemg 7 |

(d) 39 a1 AW fafge S waifas gafagd 8 |

(e) 39 Afih 1 TS FF fARGT ST qWHI] hATh 6 R 8 o awal hl
R AR g &9 B |

Answer the following questions based on the elements with atomic
number 3 to 9 :

(a) Name the element with smallest atomic radius.

(b) Name the element which shows maximum valency.
(c) Name the element which is a metalloid.

(d) Name the element which is most electropositive.

(e)  Write the chemical formula of the compound formed when the
elements of atomic number 6 and 8 react together.

(a) Rl difoT T TET @ B Toh ree T A1 C4+ 99EA SFT Gehdl B 3R A
B C4— U SHT Hehal 8, T Fealsl Y 7T § | $Eeh! ST
i o fau oft o e for gegash At
() foga & Tarcis =6 B9 §; qen
(i) 7 AR o TAHTH IR FaATH 77 F41 81 B |

(b)  S=F (CgHg) T TTaATcHS T fAfET |

AT

(a) ‘mmTEIa’ ug <t uftumn fafgu |

(b) @I AR T FEH 3Tk FF CgHgO & | S gHT ARl o AW 3R
AT 7 Tt |

(c) a1y f=fafaa gfada forg gepr i
(i) AT ol uefH |
(i)  SIUAT <l IUTgeh ot O

(a)  State the reason why carbon can neither form C4+ cations nor

C4- anions, but forms covalent bonds. Also state reasons to explain
why covalent compounds

1) are bad conductors of electricity.
(i)  have low melting and boiling points.

(b)  Write the structural formula of benzene, CgHg.
OR
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22.

(a) Define the term ‘isomer’.

(b)  Two compounds have same molecular formula C3HgO. Write the
name of these compounds and their structural formula.

(c) How would you bring the following conversions :
(1) Ethanol to ethene
(i1)  Propanol to propanoic acid

T T
SECTION E

HIE 31Tk A B Hl, his 3TA @@ 9 Hig Jadd eyvl, FH T hi
B U 20 cm B, Soht 3T ToRel gy forey o1 Ufdlerel STod otk 39 QM1 ohl
HIRE RAT A A % T Fed B | 98 o fet gw 9@ o foma i wifa
ST hieh, TRI-TRI 8 39 Floaal g fret 9 W g8 1 digor Jfdfers Jred
AT 2 | 3 QAT TR0 H A8/ 3R UG o o= ol AT dy AR dy 31 ek
TeTEY Gl deur gfafers g

(a) (20 cm, 40 cm) 3R (Hem R Hiem)

(b) (20 cm, 40 cm) 3R (I FR I

(c) (20 cm, 20 cm) AR (I 3N 3een)

(d) (20 cm, 40 cm) 3R (HreT 3T 3ee)

39 I =TT s G |

A teacher gives a convex lens and a concave mirror of focal length of
20 cm each to his student and asks him to find their focal lengths by
obtaining the image of a distant object. The student uses a distant tree as
the object and obtains its sharp image, one by one, on a screen. The
distances d; and dg between the lens/mirror and the screen in the two
cases and the nature of their respective sharp images are likely to be

(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)
(c) (20 cm, 20 cm) and (inverted and inverted)
(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer.
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S fiefturier 3t ateeter o1 3w & fohan S w1 8 o« formmacen o geht
el 61 feufa oR@ A o uIiT 3TgAR & | 919 I3 S 31 Al 1 ST
fopelt ST & T T B, dt skl ggal <l feufa em@ B # gt SoigER B | g
IR dieedl o 31 T&l Al i [giia it 8 39 3@ & e ufeeq A
ST AT AMMRT |

T A M@ B

HAAT

Toreft vfaygs @ veifga o (D) K 38 Ufdligs & 0 | fave=m (V) ®

fdtar 1 e W % TN H R B 9 @ # gWiv ER Uh TN

foram |

() I8 I fawarR W g < Fvar & fawa 9 = fafa s g 2

(i) & Yfdlegs & B0 W fowerm 2.5 V 3, 99 398 JYaied 9
i |

\

T 0-4+

0-31
IA)
0-2¢1

0-11
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The rest position of the needles in a milliammeter and voltmeter, not in
use, are as shown in Figure A. When a student uses these instruments in
his experiment, the readings of the needles are in the positions shown in
Figure B. Determine the correct values of current and voltage the student
should use in his calculations.

Figure A Figure B

OR

In the experiment to study the dependence of current (I) on the potential
difference (V) across a resistor, a student obtained a graph as shown.

) What does the graph depict about the dependence of current on the
potential difference ?

(ii))  Find the current that flows through the resistor when the potential
difference across it is 2-5 V.

T 0-41

0-3t1
I(A)
0-2+

0-11

1 2 3 4

V (volts) —»
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24.

25.

26.

27.

A o &S & YOT o F=AfIRaa 9Tt i giid @ fofe AmifRd o g
BPE)
foret BT 3 B3 U 3ifeh S99 g areft TR Trge 1 e fhr | 39

Toremeff gro ferw @ Jeqont w1 3 A W AR MW Wifww | 38 S A
gfskam <1 A oft fafgw |

Draw labelled diagram to show the following parts in an embryo of a pea

seed :

Cotyledon, Plumule, Radical

OR

A student observed a permanent slide showing asexual reproduction in
Hydra. Draw labelled diagram in proper sequence of the observations
that must have been made by the student. Name the process of

reproduction also.

‘T T & fou foreft o=t & o &1 ARl IEw AR wET, T o
fromim o kA o1 ST foman STTaT B | 39 291 1 SURNT e IR T TR
ST 2 2 AT hifsu |

In the experiment “To prepare a temporary mount of a leaf peel to show

stomata”, glycerine and safranin are used. When and why are these two
liquids used ? Explain.

TS 59 B Tothe faeed o e & g STe WX 319 1T Y101 il ? 3194 I
% o s i |

What would you observe on adding zinc granules to freshly prepared
ferrous sulphate solution ? Give reason for your answer.

o forerg 9w & w3 g Tl st <f sufeufa w1 wferor foeg weer fomanm
I 8 ?
srUaT
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UHifesh A % TUIYHT HT HLRE HH b I Th B HIg TAN H G 7

frafafaa gt 1 3w G

()  hIeH SEIATFEES 39 hid & fou vHifes 37 0 fia™ I 91 verd
&1 = fafen |

(i)  srfufsren & fow eg Tamfe Tt i |

(i) AT § CO, T8 1 q&0 98 fohd T T ?

How is the presence of an acid tested with a strip of red litmus paper ?

OR

A student is performing an experiment to study the properties of acetic
acid. Answer the following questions :

1) Name the substance he must add to acetic acid to produce carbon
dioxide.

(i1)  Give the relevant chemical equation for the reaction.
(iii) How would he test CO4 gas in the laboratory ?
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